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A% Tangri

Tomb of —— Who was first woman

rullfa; of India is in Kaithal district of
Haryana.

(A)*Rani Padmini
(B);;R'azia Sultana
(C) Noorjahan

(D) None of the above

A is a little description that appears

along the top of a page so that the reader
knows what's what.

(A) Header
(C) Note

(B) Footer
(D) Review

In Haryana, Basaj wetland is located in
district.
(A) Kurukshetra
(C) Jhajjar

(B) Faridabad
(D) Gurugram
In pipe lines, eccentric red
mainly in

(A) Vertical position

(B) Angular position

(C) Radius position

(D) Horizontal position

ucers are used

Which property of metal has its power of
returning to its original shape after the
applied force is released ?

(A) Malleability (B) Tenacity

(C) Elasticity (D) None of these

Reorganisation of the Punjab boundaries
and the separation of the Ambala Division
from Punjab was suggested at

(A) First Round Table Conference, 1919
(B) Second Round Table Conference, 1931
(C) Third Round Table Conference, 1934
(D) Fourth Round Table Conference, 1947

river does not get its source from
the Shivalik Hills.

@)
C

(B) Dohan

Ghaggar
i (D) Markanda
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13. The British Viceroy who took initiative
to create local government bodies in
administration
. (A) Lord Rippon
i (C) Warren Hastings

(B) Lord Harding
(D) Lord Litton
14. \Wlichanmngthefollowingriverorigmﬂtes
in Aravali hills ?
(A) Tangri

(C) Ghaggar

(B) Markanda
(D) Sahibi

15. The word that expresses 4 sudden and
strong feeling is called

(A) Punctuation (B) Interjection
(C) Conjunction . (D) Apostrophe

16. Which method of surface hardening is
done in a heated salt bath?
(A) Flame hardening
(B) Gas carburising
(C) Pack carburising
(D) Liquid carburising

_ In 2000, Ashwini Choudhary weon the
Indira Gandhi Award for Best Debut Film
of a Director at the National Film Awards
for the Haryanvi film

(A) Dhakad Chhora (B) Lado

(C) Phool Badan (D) Jatani
. What is a shortcut key for “Copy”
command ?
(A) Ctrl+C B) Ctrl+V
(C) Ctrl+ A (D) Ctrl+X
. Which river of China is known as Yellow
River' ?
(A) Huang He River
(B) Yangtse River

(C) Pearl River
(D) Sikiyang River

20. Shyam Satsai and Satyagrahi is written by
(A) Deedar Singh
(B) Bhai Santokh Singh
(C) Sahib Singh Mrigendra
(D) Tulsi Ram Sharma
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21. What is the name of pa
) rt e
e et part marked as ‘X' | 21 i 36 e 3 ) B R w7

X
(A) Handle (B) Bonnet
(C) Gland nut (D) Valve seat

22. Which type of wrench is used on finished
tubular surface to avoid damaging ?.

(A) Strap wrench .

B) Foot print wrench
(C) Chain pipe-wrench.

D) None of the above

923. Whatis the name of the part marked as
X in the following figure: Pt

(A) Anvil e(B) Th_imble
(C) Spindle (D) Spindle lock
filter helps 0 protect the
taminations ?

94, Which type of
pump from fluid con

(A) Suction filter

(B) Magnetic filter
(C) Absorbent filter ;
| nical fil

25-0 : ___,_...---"""'" .
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D
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30.

31.

32.

i

is a Folklore Museum situated

— . .

in Gurugram district of Haryana,
(A) Sri Krishna Museum

(B) Jahaj Kothi Zonal Museum

(C) Urusvati Museum
(D) Dharohar Museum

Which one of the following was not included
among the five important political centres
in the empire of Ashoka ?

(A) Kosala (B) Taxila
(C) Suvarnagiri (D) Ujjayini

Who was the writer of ‘Desan Mein Des
Haryana’ ?

(A) Lakhamichand

(B) Uday Bhanu Hans

(C) Dayachand Mayna

(D) None of the above

Which cast iron cannot be welded ?
(A) Grey cast iron

(B) White cast iron

(C) Malleable cast iron

(D) Nodular cast iron

Data which are not organiséd in a
pre-defined record format is called

(A) Unstructured data
(B) Structured data

(C) Table
(D) Meta data

Who was the first to bring to light
archaeological evidence of Mahabharata
sites in Kurukshetra of Haryana ?

(A) B. B. Lal (B) an:dla Thapar
(C) Irfan Habib (D) Bipin Chandra

The solid crust or the hard top layer of
the earth is called as

(A) Lithosphere

(B) Ionosphere

(C) Mantle

(D) None of the above

8-
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37.

38.

39.

40.

The famous ‘Bhimbetka’ cave paintings
are in the State of

(A) Andhra Pradesh

(B) Madhya Pradesh

(C) Haryana

(D) Maharashtra

Atomic mass of Potassium is
(A) 23.0 (B) 32.0
(C) 39.0 (D) 93.0

Which among the following Wildlife
Sanctuary is present at Sirsa district of
Haryana ?

(A) Abubshahar Wildlife Sanctuary

(B) Khol Hi-Raitan Wildlife Sanctuary
(C) Bir Shikargarh Wildlife Sanctuary
(D) Nahar Wildlife Sanctuary

The average age of students of a class is
15.8 years. The average age of boys in the
class is 16.4 years and that of the girls is
15.4 years. The ratio of the number of boys
to the number of girls in the class is

(A) 1:2 B) 2:3

(C) 3:4 D) 3:5

Which standard pipe fitting is used toelose
a pipe line having internal I:h;ea‘d-?

(A) Plug (B) Cap:

(C) Reducer (D) Coupling
What is the name of the process of
finishing the drilled hole ?

(A) Reaming

(B) Spot facing
(C) Counter boring
(D) Counter sinking

BIS stands for

(A) Bureau of Indian Standards
(B) Book of Indian Standards

(C) Business of Indian Standards
(D) None of these

Ifthe day before yesterday was Saturday, what
day will fall on the day after tomorrow ?
(A) Friday (B) Thursday

(C) Wednesday (D) Tuesday

33.

34.
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41. During logical formatting, the operating
system also groups sectors together, into
storage units called

(B) Clusters

(D) Storage groups

(A) Tracks
(C) Sectors

42. A written description of duties and
respOnsibih'ties to be carried out in a job
is called
A) CV (B) Resume
(C) Job description (D) Job application

43. What is the full form of HVPNL 1n

Haryana ?

(A) Haryana Vidyut Purchase Nigam
Limited

(B) Haryana Voltage Prasaran Nigam
Limited

(C) Haryana Vidyut Prasaran Nigam
Limited

(D) Haryana Voltage Purchase Nigam
Limited

44. The percentage of elected women members
| in 2019 Lok Sabha is
(A) 21.6%
(C) 10.25%

(B) 25.6%
(D) 14.36%

arall e' female thread

41,
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50.

51

52.

53.

Pipe vice can be used to hold pipes upto
diameter.

(\) 68 mm
(C) 63 mm

(B) 65 mm
(D) 72 mm

A resume should be

(A) Short and precise

(B) Fancy and colourful

(C) Having long and detailed information
(D) Having acronyms and abbreviation

Rania constituency of Legislative Assembly
is located in district of Haryana.
(A) Jind (B) Sirsa

(C) Fatehabad (D) Hisar

Amit travelled 15 km eastward, then
turned left and travelled 5 km, then
turned left and travelled 15 km. How far
was Amit from the starting point ?

(A) 30 km (B) 35 km

(C) 15km (D) 5km

Which formula is used to calculaté force ?
(A) Pressure + Area

(B) Pressure X Area

(C) Pressure — Area

(D) Pressure + Area

A___ plugsinto one of the computer's
ports and then projects the video output
onto an external surface.

(A) Sound cards (B) Video cards
(C) Monitor (D) Data projector

Which lake is a contiguous to Asola Bhati
Wildlife Sanctuary in Haryana ?

(A) Brahma Sarovar Lake

(B) Karna Lake

(C) Surajkund Lake

(D) Badkhal Lake

47.

48.

49,

50.

b1.

52.

53.
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Which of the following i8 the National
Standard Body of India ?
iti dia
British Standards of In‘ .
Egg Bharath Standard Institution
(C) Burcau of Indian Standards
(D) None of the above

! What is the name of furnace to obtain cast

(C) Electric furnace
" (D) None of the above

8. Shivalik hills are present in the
part of Haryana.
" (A) West

(C) South-West

(B) East
(D) None of these

"' What is the angle of deviations provided
. on elbows and bends in pipe works ?

b (A) 90°and 45°  (B) 30° and 60°

" () 20°and40° (D) 60° and 45°

. Asolid cylinder of mass 20 kg rotates about |
its axis with angular speed 100 rads-
The radius of the cylinder is 0.25'm.
The kinetic energy associated with the
rotation of the cylinder is

(A) 3025 J (B) 8225 J
(C) 3250 J (D) 31254
. Corruption Perception Index is

prepared by

(A) Transparency International
~ (B) Oxfam

(C) Action Aid

(D) None of the above

- Select the pair in which the numbers are
_similarly related as in the given pair.
11121 '

- (A) 5:125 (B) 9:81

= (C) 2:8 (D) 4:64

I :-;f_In Haryana, Hathni Kund Barrage is
| located on

-

: river,
(A Saraswati (B) Dohan
(D) Sahibi

" (0) Yamuna
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63.

64.

65.

66.

67.

68.

is the decreasing order of hydration
enthalpy of alkaline carth metal ions.
(A) Sr?*> Be? > Ca* > Mg*
(B) Ca? > Be* > Mg? > Sr¥
(C) Mg* > Be* > Sr? > Ca?
(D) Be* > Mg* > Ca? > Sy

By selling an article at % of the marked

price, there is a loss of 25%. The ratio of
the marked price and the cost price of the

?Ar;icge is

:6 B) 5:2

(C) 8:15 éD; 16:8
Haryana Government notified

in 2010 as the State’s second language.

(A) Hindi (B) Punjabi

(C) English (D) Telugu

Which type of pipe joint take branch at 90° ?
(A) Coupling

(B) Tee branch
(C) Eccentric reducer
(D) Concentric reducer

What is the range of external pipe threads
cut by pipe dies ?
(A) 1/2” to 4”
(©) 1/8” to 2"

Second battle of Panipat took place in
(A) 1664 (B) 1526
(C) 1556 (D) 1761

What is the name of the following valve ?

(B) 1/4” to 4"
(D) 1/4” to 6”

(A) 5 port 2 position valve
(B) 3 port 2 position valve
(C) 4 port 3 position valve
(D) 4 port 2 position valve

o
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(A) Sr**> Be?*> (a > Mg

(B) Ca? > Be? > Mg?* > Sr*

(C) Mg? > Be? > Sr* > Ca*

(D) Be*> Mg** > Ca* > Sr*
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69. A man has some hens and cows, If the
number of heads be 48 and the number of
feet equals 140, then the number of hens

will be
(A) 24 (B) 26
(€) 23 (D) 22

70.  Which of the following are Nordic
countries ?

(A) Finland, Iceland, Norway,
Denmark, Sweden

(B) India, Sri Lanka, Pakistan,
Bangladesh, Myanmar

(C) Iran, Iraq, Egypt, Sudan, Somalia

(D) None of the above

71. Punjab Limitation Act was passed in

by British.
(B) 1914
(D) None of these

(A) 1909

(C) 1937
72. Inacertain code, 1289 is written as SHIP
and 6754 is written as WOLF. How is
1276 is written in that code ?

(A) SHWO (B) SOWH
(C) SHOW (D) None

horizontal rows are present in
~ modern periodic table.

. A8 (B) 18

b (O 7 D) 14

- When the Ghaznavids invaded India
from the North-West, the dynasty ruling
e Haryana was

- . (A) Tomara
3 (C) Pushyabhuti

(B) Guptas
(D) Tughlaq

The ratio between the present ages of
Pand Qis 6: 7. If Q is 4 years older than
P, what will be the ratio of the ages of
© Pand Q after 4 years ?

A) 3:4 B) 3:5

(C) 4:3 (D) None of these
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76. Najibud-daula killed Suraj Mal in a battle
WA near the river

(A) Ganga
(C) Ghagra

(B) Hinden
(D) Reva

77. Gurudwara Dhamtan Sahib in Narwana
tehsil of Jind District in Haryana was
built in the memory of
(A) Guru Gobind Singh
(B) Guru Nanak
(C) Guru Tegh Bahadur
(D) None of the above

78. Which rubber is used as insulator for
power cables and control wires ?
(A) Butyl
(B) Hypalone
(C) Silicon
(D) Nitrite butadiene

79. In which method of surface hardening,
the surface remains free from scales?
[} (A) Nitriding
gl (B) Case hardening
\" A (C) Flame hardening

5 (D) Induction hardening
";\6 (BU. A cricketer catches a ball of mass 150 g
L 6,\" in 0.1 s moving with speed 20 ms™, then
) heexperiences force of
J\O (A) 300 N (B) 30N
D) (C) 3N (D) 0.3N
81. The rusting of Iron can be prevented by
(A) Painting (B) Greasing |
(C) Oiling @ (D) All the above
82. Which type of fixture is used for machining

on evenly spaced surfaces ?

(A) Plate fixture

(B) Vice jaw fixture
(C) Indexing fixture
(D) Angle plate fixture

m
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Waﬁmﬁm % e w5 2
(A) T (B) fé=m
(C) =M (D) T
77, s 4 sffe 5t 3% Fam dedie i qem
W Afed _ R e d e a |
(A) T Tifde fig
(B) T& ATH
(C) & o TErg
(D) 3% # & #1§ T
78. H-91 Wg frga ari o s A §
fogaieh & w0 d yq Erar & 7
(A) =qeIRA
(B) TEUGH
(©) faferia
(D) ATEIEE SFeTeTE
79 03 Farwm A R fafy d, g oo
(Whet) & g @Al s 7
(A)
(B) BT
(C) %iH BT
(D) S BT
80. U 150 g FoTWH % a1t 1 20 ms
fa & drgd gL 0.1 s H Yo 2, 41 34 o
el 1 3TgE BT 7
(A) 300 N B) 30N
(C) 3N D) 0.3N
81. IR I ST T ¥ F9H I ITHE &
(A) U2 T (B) MG & S
(C) T TR @) IR o
8. T I A JHB T TR g -4 T
i1 e = o s 2 7
(A) =¥ fEm
(B) aT5H STl Tl
(C) e fham
(D) TTe =¥ fFam
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Direction : Q. No. 83 and Q. No, 84

In each of the followin '
! 1. B questions, g gent,
as been given in du-ect}mdirect speech.eonﬁ(t!
of the four alternativesg suggested, select the

one which hest expresses the ga 1
one L me sentence
Indirect/direct speech. "

83. “Please don't go awa{l”, she said.
e said to please her and not go away.,
e told me not to g0 away,

A) Sh
C glllx b d
€ begged that [ not :
She beggged me notnt% gg:;] :f\:rvff

84, Hertsaj?g to her, “Are you coming to the
arty °

&) € asked her whether if she wag
coming to the party,
(B) He told her if she was coming to the

;ﬁarty.

(C) He asked her if she was coming to
the party.

(D) He asked her if she will be coming
to the party.

85. The foHowingquestionconsistofﬁ'agments
of a sentence. The first fragment (1) and
the last fragment (6) are in order. The
other four fragments are jumbled up and
are designated as (P), (Q), (R) and (S).
Find out the correct sequence of these

from the given alternatives,

1. It is now generally accepted
P. robots will take over

. specially jobs
I%. tl‘:at in %’ujture
S. many of our tasks
6. of a repetitive nature.
(A) RSPQ (B) SPQR
(C) PSRQ (D) RPSQ

86. In the following question, a sentence has
been given in Active (or Passive) voice, Out
of the four alternatives suggested, select
the one which best expresses the same
sentence in Passive (or Active) voice,
Rain disrupted the last day’s play between
India and Sri Lanka. , '
(A) The last day’s play of India and Srj

Lanka was disrupted by rain.

(B) India and Sri Lanka’s lay of the
last day was disrupted by rain.

(C) The last day’s play between India
and Sri Lanka was disrupted b / rain,
The last day’s play between India and
Sri Lanka were disrupted by rain.

87.

88.

89.

90.

14/2019 (5

feet
T 1 ey v A R 7
A) Frewm
(B) freand
(C) Ferrra
(D) ¥ @ =t 7

T 3794 T e wrek) ) § 7
(A) dcaq

®B) TN

(C) YT

(D) 7 B 1 7

I Y158 1 A w2
(A) Haq

(B) Wi

(C) wad

(D) 378 & I 7

IS FARATER gy 4
A) & | S
(B) aviaren ey
() ferert
D) FHAFT
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